w - - PC*"’ b V & 'QI
-
-
Thereis 4.8 ¢ of 02 pas I S :
here is 4.8 g of 02 gas in a 5.6 L container at 273°C. How many atm is the pressure applied to the vessel? (O
g/mol)

m=9-83 9

i =S¢ L ‘)\I:I\OZ'

a)
b)

o}
d)
0¥

10-

T- 233+ 1F T BH6 K - KT
1.5

PV =
)= 1 atm » My
e 1 iZ= 3.L ‘m‘ P N\ﬁ
05 - a‘ -
2 M/ vV Mv

Leave blank [Z - o-082/

|

Y-8 Xo-2821X s4Yb

S-6 x J2
- 1.2 atm-

The pressure of the gas in a 12 L container with an ideal frictionless piston is 2 atmospheres. When the piston is
pushed down until the vessel volume is 4 liters, it is observed that the pressure of the gas is 8 atmospheres and the
temperature is 127 °C. What is the initial temperature of the gas in °C? (Assume that the gas behaves ideally.)

v,z 2L V, =4 L Combited gus 49
200 Fi- 2 atm Py = 3 abm \
105
52 e e Ty = e
27 i +27/-
zoo blank "l“ q“
eave Dlan ——

P 1z x 2 X+ET

| = — = -




lJf

at =
, oqs7 | e
986
) e 0987 © 18 | Q \
o £ \
. - 6987
2 [.51828 e
eave Dav
11-
N &0 —>fe & E_.;_°u ak=?
Lo X2 2 402 —(Zho  aK:-SWal
i 3 Fe 4201 — F,00 OH=_-N8yk
Fe
YRo —s 4B +2&- nH:+5442 X2

/3,?{ + 204 — Fe304 OH = 18-y

YO — Fe +Fe 04

b\‘\' - +Sqq'o)\ vl —”,8"-] = _,3.o=q ké



12-

1- 200 ml of NaOH solution of unknown concentration is titrated with 0.1 M H2504 solution. Since 40 m| H2504 is
consumed during this process, what is the concentration songion (M)?
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6- How many k| is the heat released when 10 mi of ethanol is burned? (1he molar enthd
1367 k)/mol; its density is 0,789 B/ml IS molar mass is 46 g/mol)
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7 32(g) — 4 NO (g) + 6 H20 (1) In terms of the enthalpy valued
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